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= M AT
H oo g AEEA HHPE SR
RS - A - FY - BA(AH) - HBAY - HES 0l ko e 52
01 At 22ltl 12,200 12,200 0
ORMNE (H=8E) g2 4,000,000 4,000
A= & RHHEARAS 2E+E
7,200,000& 7,200
OAMNE (HI#Y) s dAME 1,000, 000& 1,000
03 & At2 Y| 5,600 7,000 A 1,400
ORMNE 23 (23 )M 2,400,000& 2,400
OAlLZ -2, 220|2 RHHE(H=I8H) U]
3,200,000& 3,200
202 o4 Bl 4,000 4,000 0
01 =AYl 4,000 4,000 0
Onlg= dZ3YE & ANEgsEE 0l
4,000,000& 4,000
203 R =&l 2,000 2,000 0
03 Al =R x| 2,000 2,000 0
OAMINE JRF2 2,000, 000& 2,000
303 &= 8,000 0 8,000
01 Zatz 8,000 0 8,000
OXNZUN 24+TLY Ty 8,000,0002! 8,000
HY 2P ZH| 18,840 18,840 0
224 (841) 18,840 18,840 0
M2 18,840 18,840 0
201 et | 10,080 10,080 0
01 AtS 22l ] 10,080 10,080 0
ORN2E =Yl 7,020,000& 7,020
OJI2gR=8 =l 3,060, 000& 3,060
202 o4 Hl 5,760 5,760 0
01 =2LHO HI 5,760 5,760 0
OJledf=d 0l 5,760,000 5,760
203 R =&dl 3,000 3,000 0
04 FA2IHRFAH 3,000 3,000 0
OfRNM2IZRFEH 250,000& 128 3,000






